Overloaded Operators
Using this pointer

http://www.youtube.com/watch?v=lpQF-hCyB18

Every object has access to its own address through a pointer called this.

The following program demonstrates use of this pointer to enable a member function of class Test to print the private data x of a Test object.

// Using the this pointer to refer to object members. 

#include <iostream>

using namespace std;

class Test {

 public:

 Test( int = 0 ); // default constructor 

 void print() const ;

 private: 

 int x;

};

Test::Test( int a ) { x = a; } // constructor

void Test::print() const   {

 cout << " x = " << x


 << "\n The adress of testObject is: " << this

 << "\n this->x = " << this->x

 << "\n(*this).x = " << ( *this ).x << endl; //( ) around *this required 

 }

 int main()

 {

 Test testObject( 12 );

 Test testObject_2 (13);

 cout << endl;

 testObject.print();

 testObject_2.print();

 return 0;

 }

Overloading Operator ++ and = using this pointer
#include <iostream>  

using namespace std;

class location{


public:



location(int=0,int=0);



void print()const;



location operator+(location op2);  



location operator-(location op2);



location operator=(location op2);



location operator++();


private:



int longitude;



int latitude; };

location::location(int lg, int lt)



{longitude = lg;



latitude = lt;}

void location::print ()const{


cout << longitude << "\t";


cout << latitude << "\n";}

location location::operator+(location op2){


location temp;


temp.longitude = longitude + op2.longitude;


temp.latitude = latitude + op2.latitude;


return temp;}

location location::operator-(location op2){


location temp;


temp.longitude = op2.longitude - longitude;


temp.latitude = op2.latitude - latitude;


return temp;}

location location::operator=( location op2){


longitude = op2.longitude;


latitude = op2.latitude  ;


return *this;}

location location::operator++(){


longitude++;


latitude++;


return *this;}

int main(){


location ob1(10, 20), ob2(5, 30), ob3(90,90);


ob1.print();


ob2.print();


++ob1;


ob1.print();


ob2= ++ob1;


ob1.print();


ob2.print();


ob1=ob2=ob3;


ob1.print();


ob2.print();


return 0;}

Questions to try :
Q1: Create a class with an object. Output the address and the value of your object using this.

Q2: Create a class student with three objects. Make the grades of the second student to be the same as the grades of the first student and increase the grades of third student by 1% and output the new values.
Q3: Try to create a class where you can implement inheritance, overloading operators and this pointer.
